sin“ O+ H‘f(@

|+ 0s(20)
(05 0 = >

2y |-c0s(20)
tan’0 - Hcoss(a%

NQ‘(
% 9@\}&
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(_EXAMPLE | Establishing an Identity

Write an equivalent expression for cos® @ that does not involve any powers of sine
or cosine greater than 1,

(050 = (030 * Cos O

_ HCOS(Z@\ | +cos (26)
2. 2

:\iZcos(Ze\: (cos(ze)\,2
12 08(20) “reos@®

L\
=gt 5 osQo) + g+ g cos (46)

- % v 3 cos@2e) + 5 ©S (o)
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_‘
60819: | COZS(29>

(2@ lJr cos 7(28)
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Sin (3@ = sin (26 ’f@>
= SINEOcos O + cos(26)sin O

:(ZCOS@S'IY\ 9> 0SSO + (coszG -s\n’ 9)3’m9

=2ostOS\N0 + coszé?s'\néfslng@
=308 03D -sin30




